The Rules of Higher Exponents

Exponent Rules Matching:

(ab)™=

(a™)"=
Write the rule AND
(6-9)'=
5 -
5
(37 = 5)?=
17%-17%7=
725 . 714_
(197)6=
1\9
6 -
(8- 6)°=
(16 + 13)%=

the answer:

mn

a*=pn

m+n

87 - 88=

(118)°=

(8-3)*=

1613 + 166=

G
7

(41 = 3)7=

1314 =+ 138=
(43)6=
74 . 78=
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m

a™-a=

m n_

a’ —a

(ab)"=
()=
(a < b)"=

(a™)"=

614 . 67=
(9-8)°=
(15 + 4)3=
5)° -
1216 = 12°=
(11%)°=
(5

(17 - 11)2=

(31 + 7)°=

a*=pn
a*p™

am+n

()

(57)7=

(9-11)12=

836 - 837=

1317 + 13%=

@’
4

(26 + 5)7=

21° + 21°=
(198)°=
46 - 4*=

The Rules of Higher Exponents
Exponent Rules Matching:
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(6-9)"=a™b™ =67 - 97
6)*=G-6)

(37 =+ 5)2= q"=b™ = 372252
174 -1717= gmtn = 1721
725 - 714 gm-n _ 711
(197)6_ qa™ = 1942

6 = ()-6)

(8- 6)%= a"b"= 856"

(16 + 13)2= q"+b" = 1622132

87 88_ a‘m+n 815
(116)9= qamn = 1154
(83)*=a™b" =8*-3*
16'3 + 16%= a™ " = 167

N8 _ (L)Y_(L
(7) N (b") (78)

(41 = 3)7=a™+b" = 417237
131 + 138= @™ " = 136
(43)6= amn= 4_18

74 78_ am+n 712

Answers for page 1.
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614 . 67= am+n =621
(9-8)%=a”b" = 98’
5)° -G -G
3 —\pn/)  \36
1216 + 129= qm " = 127
(114)8= 1132
1\ 3 . i _ i
(6) — (bn) - (93)
(17 11)2=a"b" = 172112
(31 - 7)5=an+bn - 315+75
(57)7= q™n = 549
(9 11)12=a"b" = 912117
836 . 837=gmtn = 8313
1317 = 139: qm—" = 138
VL1 (L) (L
(Z) a (bn)_ (411)
(26 = 5)7=a™+b™ = 267+57
21% + 216=gMm " =213

(198)9= amn — 1972

46 . 44= qmtn = 410

Answers for page 2.
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Exponent Rules Matching Answers:

(ab)™ =ab™

G- G
(a+b)*=a+b"

cqlt = gmtn

(@™™ = g™



